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0000 Which equation and answer
represents these balance
beams and the bottom solution
_ 0000 a b
A
25+ 2+t = 4t + 6c 25 +2¢c = 4t + bc
4c =3t 4e = 2t
dt+s=s t=g3s
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Which equation and answer
represents these balance
beams and the bottom solution

a b
2c+ 8t =45+ 2t2¢c+ 8t =4s+ 2t
- t? 6t = 2¢ 6t = 2¢
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Which equation and answer
__ 0000 T d

A represents these balance
beams and the bottom solution

B8R0 e 0 b

dc = 2s c=2s
6s + 6¢c = 4t + 2c6s+6c =4t +2c+s
2s =1t 4s =1t
? A
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AL A BEEN = \which equation and answer

represents these balance
beams and the bottom solution
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a b
2t = 4s 2t = 4s
l? 4c+2s = 6t + 65 4c+ 2s = 6t + b5
] A = c=2t c=t
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0000
Which equation and answer
represents these balance
beams and the bottom solution
A
a b
25+ 2c =4t + 6¢c2s + 2c = 4t + 6¢
- t? 4e =2t 4e =2t
! =2t =3t
A S S
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Which equation and answer
represents these balance
beams and the bottom solution

a b
6s =2t 6s =2t
l? de+2s =2t +8s4dc+2s =2t + 8s
, . c=t+s c=t

Which equation and answer
represents these balance

( 1 ] lllll
A
beams and the bottom solution

a b
2c = bs 2c = b6s
2c+8s =4t + 2s2c+8s = 4t + 2s
? _ _
c=t 3c=t
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